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33 We will be asked to compute some more involved TRIGONOMETRIC INTEGRALS. We will
learn a technique of using TRIG IPENTITIES to rewrite the integrand, which will then
enable us to compute the integral. First let's review some important facts about Trig

functions.
Berd. Sme Tt QAEVIFEREED owme muce
AN TOENTLTIES. RECTPROAL ThENTITES | Sin(20)= 25inbcos®
Cos™0+ swl = | csc(8)= 5e) Cos(20) = 2657 = |
tan20 + | = sec®*0 sec(6)= 1 = 0ps® -SUvO
| + cot®@=Csc*O cos(e)
Cdt(e) "(of)

_ l+cos28)
TROWCT To SUm FORMWAS, Cos™0 = 2

sin(A)os(B)= —{S\“(P\-BB + s (A+ B)j st = = c?o_s @)

sin()sin (B)= L[ cos (r-8)—cos(h+ B}l\
as(R) cas () = eos(A-B)+ cosine)]

N AYNTTC:

To evaluate S0 and cos(®)
at a particular valve of @, the
unit circle comes in handy!

e Find the correct angle & on
the unit cirele.

e The point will have an ordered
pair associated with it.

o The X VALUE represents cos(0)

o The Y VALUE represents sin(6)
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EX 1 Evaluate the following definite and indefinite ok fsin"‘(x) cos™(¢) dx.
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Ex 2..Set up an integral to express The area between the graphs F0J=sint)nd
fed=sin*>x) ontheinterval [0,7]
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